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Topic:- Child Development & Pedagogy (CDP)

1) Which theory laid the foundations for behaviorism? / f&® Rigia A FragRarg ot ta vt
1. Functionalism / GTaTG (mqﬁ“ﬁq)

2. Gestalt / TRETee

3. Connectionism / TITSHATG (BfaciiagH)

4. Structuralism / SRTTATG

Correct Answer :-

« Connectionism / SOTSTdTIE Wﬁ@)

2) vygotsky’s work serves as foundation for researchers in / aﬁ"ﬁw DT DTH - | Qﬁ'ﬂﬁf&ﬁ &
fere T &1 ®™ FaT B

1. cognitive development / HITTH® famrg
2. pedagogical skills / Qe P

3. emotional intelligence / Wg@

4. reflective practices /ﬁi’cﬂ?ﬂﬁ G{WTHT

Correct Answer :-

« cognitive development / W fowrg

3) Which of the following is the most appropriate approach for conceptual learning?/ fFafafaa & @ dule sftrm & ﬁl"'{ LER
SugH B TR

1. Deep learning approach / T|B:f W E@W

2. Surface learning approach / I8 SfRTH %’f@ﬁm

3. Strategic learning approach/ W Gifm EW'UT

4. Memory based learning approach/ Wﬁf 3‘”% 3®TIII ‘e’@ﬁm

Correct Answer :-

« Deep learning approach / 1Te-1 SfRTH E@@UT

4) On what is based the need for teaching philosophy of education? IﬁT&ﬂ F QT&‘I'UT m P ATIRIPAT fbg WR
YT 872

1. All pupils are not alike /H'l-ﬁ R Waﬁ :@éﬁl
2. Different systems of education found in different countries / W-Wa—@ﬁ S-S QT&‘FUT W%?J‘T’él?ﬁw?ﬁ %:|

3. Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ E{th AfRen s B UG UR 3{cl-
3T ERDIv Had fhu|

4, Different ways of teaching-learning /ﬁT&‘fUT-GIW CACIREKRCA

Correct Answer :-



« Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ mﬂ%ﬁ Cl ﬁT&ﬂ G 'R Ug ] UR 3{cITT-

3T eV IvT e fohu|

5) OCD does not affect which of the following cognitive constructions?/
SRS Frafafaa damrere fFmfon & & f5 ywrfaa 98 sxar 32
1. Believes about inflated responsibility/ Jfafed ITReI@ & U faym
2. Underestimation of personal ability/ G &A1 Bl HY 3T

3. Intolerance of uncertainty / AHffEraar ot &H'%Nﬂﬁ'[

4. Control of thoughts/ Rl W o

Correct Answer :-

« Control of thoughts/ ol o= fg=ur

6) Emotional development is partof ./ YTa-ITe® fawra . W%THT%I
1. Motor development / [ERIGED (’J:ha) faara

2. Cognitive development / BRI CATEAR

3. Psychosocial development / ARG faeT

4. Sensory development / Hadt (M faara

Correct Answer :-

« Psychosocial development / AFITHTII fam

7) A child has been bullied in the bus every day on the way to school. Now, when he hears the sound of any bus approaching, he begins to
panic. What principle of learning explains this behaviour? / T T B pd iG] BUE NEGURCRIRTIG) %I 3(q, oid Wt a5 f5dft s
F U 3T P I AT B, A I8 TSR a1 8 | SIFRATH F71 1 A1 Ricgial 39 AIER 3 1S Bl 72

1. Reinforcement / W:T

2. Punishment / &8
3. Stimulus generalisation / 3&U® AMHTHROT
4. Stimulus discrimination / SEUP [IHEIBRUT

Correct Answer :-

« Stimulus generalisation / S&UP AMHTHROT

8) A child is motivated to jump from the first floor window to the ground because it gives her a thrill. What motivation theory best

describes this kind ofmotivation?/WWWW@W@WW@%WWW%@%W@WW%I
fra TR & Mo Rigid 39 TR 3 IR0 BT JGH 3rST qui H3d 82

1. Arousal theory /mﬁl@ﬁ (SRT3oIcT Eﬁ'\ﬁ)
2. Incentive theory / Uiere fygia

3. Drive theory / STd Rrgid

4. Instinct theory / Qﬁ'[ Rigid

Correct Answer :-

« Arousal theory /Enichzf gl (SRT3SId ?Ihﬁ)

9) Which of the following sentence is TRUE in the context of guidance and counselling in school?/ e ddsa qTeH, ¥pel |

arfeei= ok wrasf & el d udt 22

1. Talking about my problems, in counselling or otherwise, isn’t going to help. / BTIH e AT o H A el & IR B a1 A 9 B
e 6 a @ e

2. Counselling takes only one sitting to be effective. /W’Q&IIHT THTA B-'ﬁ & o Fad 1 ébf éw (@i T )W%I



3. Helps in working through personal problems that may affect academics or relationships. / i TERTSH & T1H Y S H § Aag
1 o FRIeTaal a1 Rl 1 gHIfdd o I g

4. Students get counselling only because there is a counselor in school. / S P Had AT TR i % Fifes faemeg § RRierd %l

Correct Answer :-

« Helps in working through personal problems that may affect academics or relationships. / I TS & ATeH I HIH H I Hag
T § Sl FRiafae) a1 Redl o gvifad aR gadi gl

10) Which of the following provides excellent resources to explore? / Frafafaa & d $19 91 yar @ ('E?\"'I'Wn? m ¥ ﬁl’Q’ JpT
HHTY UG BT 82

1. LCD projector / TeRITS! giotaex

2. Internet / W

3. Interactive smart board / seiff%a F:ﬂé Eh:ff
4. Language Lab RAGEERSE]

Correct Answer :-

« Internet/ 3' e

11) Which memory is connected with episodes and events? / TET 3R g1 & Iy ﬁ?@ﬁwﬁrﬁﬁ’f ﬁ?ﬁ' %?
1. Long-term / aﬂhﬁf
2. Episodic /WW @ﬁm

3. Semantic / 3‘[&?{% (?ﬂm
4. Short-term / W

Correct Answer :-

« Episodic /WW (@m

12) The type of personality called ‘Asthenic’ was introduced by / RIfF e afedd fead grT Udd o war
1. Freud / TS

2. Sheldon / Reg

3. Kretschmer / SRR

4. Jung / {PT

Correct Answer :-

« Kretschmer / R

13) The 3 primary laws of Thorndike’s theory are: / uﬁ?—:’l’?ﬁi ® ﬁf@'ﬁ * 3 iy Ay %

1. law of readiness, law of exercise, law of effect / AU DT ﬁ?Tq, S HT ﬁmr, THTE &1 faH

2. law of intensity, law of analogy, law of assimilation / dgar &1 ﬁmrr, e 1 ﬁmrr, SMHAGTIRRY BT FAuT
3. law of action, law of experience, law of result | BT BT ﬁm:[, S{JHI T ﬁm{ gfvomy &1 fAow

4, law of use, law of practice, law of disuse / TR &1 ﬁm:r, S dT ﬁtﬂ:{, mﬁﬁ’qﬂ

Correct Answer :-

« law of readiness, law of exercise, law of effect / TUAT BT TH, 3ATY &1 FAH, gHTd &1 Ao

14) Minnesota Multiphasic Personality Inventory (MMPI-2) has / ﬁﬁﬁan&&ﬁ?ﬁlﬁmﬂﬁsﬁﬁ (Q’H’Q’H’tﬁ@ﬂg-Z) ﬁ'ﬁ'l:l'%
1. Above 400 items / 400 3IRCH T 3fdm
2. Above 500 items / 500 m% 3HfIH



3. Below 500 items / 500 anszﬂ“@tm
4. Below 300 items / 300 &nsaq“@tm

Correct Answer :-

« Above 500 items / 500 3TSeH ¥ 3ifeh

15) In which of Piaget’s substages of sensorimotor stage to children repeat pleasurable actions that first occurred by chance? / ﬁ'q"ﬁ a’ﬁ

mwm(mmmﬁmwmﬁﬁmmﬁm%ﬁmm
gUA?

1. Primary circular reactions / PIIEET Q?ﬂ'q WTQ

2. Secondary circular reactions /T Eﬁ-ﬁt[ m
3. Use of reflexes / gl foraraft &1 v

4. Mental combinations / ﬂTﬂlﬁW Hfﬁ[%rUT

Correct Answer :-

« Primary circular reactions / PG Q?ﬂ'q WTQ

16) What have the children developed when they are aware of their own mental processes? /

T A7 A T fapTid B & 5 98 31U Arie ufsparsi T 3favrd gid &2
1. Metalinguistic abilities / 3{f€r3-ITG|'I's§ &‘m (ﬁ?ﬁ*ﬂ&ﬁ% mﬁ)

2. Metacognition / ST (HETHIHITRM)
3. Meta-awareness / 3TISTTS T (HET-3ATR-4)

4. Metamorphosis / TRV (HETHTH 1)

Correct Answer :-

« Metacognition / Gfms‘ﬂ:f (ﬁm:ﬁﬁ'ﬂ)

17) What is the smallest unit in the writing system?/ G yummelt H T Bt EH"TI% =T %‘.’
1. Nouns / G3IT

2. Verbs / T

3. Phonemes / WH (Cblﬁtl)

4. Graphemes / gfofa (‘/'I'I'aﬁ_rﬂ)

Correct Answer :-

» Graphemes / gt (‘JITQWH)

18) What cognitive principle does a child possess when she understands that the amount of clay in a 2cm ball remains the same whether

the ball is flattened or made into a stick?/@ﬁﬁ?mmmmmaﬂ%, Wﬁﬁmﬁﬁq&m
giar @ fr 2 At aral v i A Frh (o) Yt A U Yl @ 91 Tig @) guer fhan we a1 39 B8 & U i gren
SlQ?

1. Conservation / W&‘TUT

2. Volume / HTId

3. Hypothesis / qﬁW‘Fﬂ
4. Irreversibility / 3TIEhHUNIAT

Correct Answer :-

« Conservation / W&‘TUT



19) What are the characteristics of scientific inquiry?/ %srrﬁw Sirg Bt ﬁa‘ru-crr‘q’ a1 gt %'?

1. All of the above/ SURTa Tt

2. Learner engages in scientifically oriented questions only./ Rremff e =9 Q Faa 39 s H dea gl %l
3. Learner gives priority to evidence only. / Rremdf FHaa Tem &1 uryfiedr 3 %I

4. Learner formulates explanation from evidence only./ ﬁr&ﬂﬁaﬁﬁ 1&g @f WWUT atlﬂ Dl %|

Correct Answer :-

« All of the above/ SRS T+

20) Children who come from homes with good parent- child relationships tend to be i '%Fr ﬁ ﬁ' HﬁT-fﬁﬂT aﬁ? aﬁﬁ Cal
ey 3reST B ¢ ol g Gokd

1. Intolerant of others / GORI & Ufdl 3TgY]

2. Impulsive / 3o (smfﬁﬁl)

3. Posses weak intellectual control / FHSIR ST {01 UTe
4. Successful in social participation / JTHTFSTE HIGRT H T

Correct Answer :-

« Successful in social pauticipation/ﬂ-“:rrﬁlfm’7 Y ]i < i ﬁm

21) Kohler’s insightful learning proved that learning is . /&ﬂ??l'\f * Gﬁlﬁ SR A ﬁa foar {5 erferm %l
1. an autonomous random activity / b T UTelwsch TifAfe

2. an event of trial an error / Ydd 3‘ﬁ? if% &t TUh Y-l

3. anew perception of the total situation / ?I'CI;Uf RICEIRGE 3@’5[%

4. a connection between stimulus and response / ST 3R UfAfhaT & &9 Ueh Ty

Correct Answer :-

« anew perception of the total situation / -HQ;UT @Jﬁ ﬁ Th Tsf &lﬁ'lﬂ%{

22) Vygotsky places considerably more emphasis on factors contributing to cognitive development./ aﬁ"ﬁa‘lﬂ%ﬁ
PRSI IR Igd 3ife SR far @ & T e § aire & 8

1. Personal / TG

2. Social / THTSH

3. Emotional/ HIG"TH®P

4, Cognitive/ GMTHD

Correct Answer :-

« Social / GRS

23) According to Piaget, what method of processing information helps in the creation of schemas? / forarst & SR, AT

ufsrarevor #t -3 fafyr sf=fa g (@ iam & fAafor & veg st 82
1. Questioning / T TS (FARIFT

2. Motivation / 3THURTTT (HIfCa=M)

3. Deliberation / faaR fam=f (Sforfavem)

4. Accommodation / FHGT ( QGS EEICRE )

Correct Answer :-



+ Accommodation / JHGI (TDHTHISTH)

24) Maslow’s five-stage model is in the shape of a /tm%ﬁanriir-amwﬁsaw_% AMPR A I
1. Pyramid | frafirs

2. Square /it

3. Rectangle / 3{1dd

4, Circle / 9d

Correct Answer :-

. Pyramid / fOR1firS

25) Ankit cheats on his exams and ends up failing in his final assessment. This can be attributed to his: / 3ifed Qﬁ&ﬂ' o IR B %

3R 3 Sifew e H SRIwd B oITaT 81 39% fIU 39 50 $RUI HI AR 38T &1 Tl &:
1. Lack of parental involvement / HTAT-TUdT & TG HTRIAT T 31HTd

2. Poor reading comprehension / G UG 1 SAYRUI

3, Lack of self-esteem / STEH-TFATT &1 HHT

4. Dependence on others / @'ﬁ R fARar

Correct Answer :-

« Dependence on others / Qﬂq 1°K3 ﬁ"-h_\'ﬂ

26) According to the theory, men and women are different and unchangeable due to their intrinsic differences between the sexes. /

_ fugia® gaR, gt 3R afgarsii & o & St sriaie® siav & SR e 3R sriad - &1
1. Social constructionism / JTHTIE FHATUIETE (FRT dHegarI-oH)

2. Intersectionality / SARTIHURIT (SCIHARFIICT)

3. Gender Essentialism / fefT Sffarfar

4. Gender performativity / foiTT Trg=f

Correct Answer :-

« Gender Essentialism /%I"‘T frardar

27) The learning style that is greatly associated with activity is: /Trﬁlﬁﬁ:%?wuaga W?ﬂ@ﬁﬂ%ﬁ?ﬁ %:
1. Visual / €Y

2. Verbal /ﬁ'@fﬁ

3. Kinesthetic /Wﬁ?

4, Auditory / HdUT

Correct Answer :-

« Kinesthetic /Wﬁ?

28) which of the following is not true about constructive teaching approaches? /ﬁ’ﬂ'ﬁf@a A A TWATHD ﬁT&‘WT 'eﬁﬂﬁw &

IR H I T 82

1. It allows the teacher to focus on important and relevant information. / 4% ﬁT&‘H’T a'ﬁ W 3ﬁ? tﬂﬂﬁﬁ W e a?—@a aﬂﬁ ﬁ
Al ST

2. Students learn to value the opinions of each other. / BT Udh §¥|i %ﬂﬁaﬁﬂ%ﬁﬁ@@ﬁ%l

3. It helps to customize the curriculum to each student. /WWWﬁWﬁW% SR &1 o Haq hdl %|
4. Discussions on the thoughts and ideas of a student are used. / W S %Fﬁﬂ GﬁT a T Q| U Elﬂfﬁt{qtﬁ"[ ﬁ?cﬂ SITdT %|



Correct Answer :-

« It helps to customize the curriculum to each student. /WWW@W@K&[% SR &1 | Hac hdl %|

29) Erikson, a follower of Freud'’s synthesized both Freud'’s and his own theories to create stages of human development,

which span from birth to death. / W%aﬁuﬁqﬂﬁﬂﬁ,m&ﬁ?mm%maﬁmﬁm%
RIS B g9 F e T=afta faan, <t 571 @ gog a9 gt 81

1. Ethological / EVINISEN

2. Epistemological / BRI i)
3. Psychosocial | TR
4. Conventional/ UXHERTTd

Correct Answer :-

« Psychosocial / TS

30) children should start developing cognitive abilities before they can experience / g=I B BT AJHT P RiCE 'q?ﬁ,
TIFTHS sl Bt AR w311 = & 1 Afgul

1. Fear / X

2. Embarrassment / m
3. Anger / TTHT

4. Disgust / YUl

Correct Answer :-

« Embarrassment / %@75

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:
Obsessions to detail may be treated as a compul-- disorder.

1. -sorily

2. -sively

3. - sive

4, -sion

Correct Answer :-

2) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the identification of problems and the search for solutions
to those problems. Many of us are good at working out solutions, once we are given a problem, but what about the necessary first step, that of
actually figuring out what the problem is? In science and in all academic disciplines, knowledge grows because we see gaps in understanding
that we seek to fill. Seeing the gap, therefore, becomes an important initiator of this process. And then we need to understand the nature of this
gap — what exactly is its shape and size? What are its consequences? The ability to see a gap, to describe it in a way that allows us not only to
imagine what it looks like but what it means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is worth
cultivating.

According to the writer, what are we not good at?
1. Identification of the problem

2. Solution of problems

3. Understanding solutions

4. Academic disciplines



Correct Answer :-

« Identification of the problem

3) Read the following passage carefully and answer the question that follows:

We all are familiar with the saying ‘Health is Wealth'. Academics serve the purpose of nourishing the mind. But we must remember that ‘a
healthy mind resides in a healthy body’. One can develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic. They also boost metabolism. Games and sports
burn excessive and unnecessary increase the circulation of blood. They calories .They also improve our respiratory and digestive systems. When
we play games various exercises are performed automatically. Athletics, cycling, skipping, swimming and other games tone up the body. Mild
exercises invigorate our minds and bodies and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football and
lawn tennis. Unfortunately, we give so much importance to academics in schools and colleges that we hardly get any opportunity to do any
physical work.

What does the writer advocate in the passage?
1. Importance of outdoor games

2. Importance of academics

3. Importance of healthy mind

4. Importance of games and sports

Correct Answer :-

* Importance of games and sports

4) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth’. Academics serve the purpose of nourishing the mind. But we must remember that ‘a
healthy mind resides in a healthy body’. One can develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic. They increase the circulation of blood. They
also boost metabolism. Games and sports burn excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping, swimming and other games tone up the body.
Mild exercises invigorate our minds and bodies and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and colleges that we hardly get any opportunity to do any
physical work.

What does the writer mean by ‘They also boost metabolism’?
1. Organic processes for maintaining our health is improved.

2. Mental health is improved.

3. Academic performance is improved.

4. Discipline in life is improved.

Correct Answer :-

« Organic processes for maintaining our health is improved.

5) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth'. Academics serve the purpose of nourishing the mind. But we must remember that ‘a
healthy mind resides in a healthy body’. One can develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic. They increase the circulation of blood. They
also boost metabolism. Games and sports burn excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping, swimming and other games tone up the body.
Mild exercises invigorate our minds and bodies and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and colleges that we hardly get any opportunity to do any
physical work.

What is the unintended consequence of over emphasis on academics?
1. We get hardly any time for our family.

2. We get hardly any time for our hobbies.



3. We get hardly any time for games and sports.

4. We get hardly any time for doing other activities.

Correct Answer :-

« We get hardly any time for games and sports.

6) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth'. Academics serve the purpose of nourishing the mind. But we must remember that ‘a
healthy mind resides in a healthy body’. One can develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic. They increase the circulation of blood. They
also boost metabolism. Games and sports burn excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping, swimming and other games tone up the body.
Mild exercises invigorate our minds and bodies and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and colleges that we hardly get any opportunity to do any
physical work.

What happens on an involuntary basis when we play games?
1. Our health improves automatically

2. We grow strong automatically

3. Various exercises are performed automatically

4. Our marks improve automatically

Correct Answer :-

» Various exercises are performed automatically

7) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the identification of problems and the search for solutions
to those problems. Many of us are good at working out solutions, once we are given a problem, but what about the necessary first step, that of
actually figuring out what the problem is? In science and in all academic disciplines, knowledge grows because we see gaps in understanding
that we seek to fill. Seeing the gap, therefore, becomes an important initiator of this process. And then we need to understand the nature of this
gap — what exactly is its shape and size? What are its consequences? The ability to see a gap, to describe it in a way that allows us not only to
imagine what it looks like but what it means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is worth
cultivating.

What is important to be articulated?

1. To fill up gaps in understanding

2. To acquire skills in understanding

3. To prevent a problem in the first place

4. To imagine the in advance

Correct Answer :-

« To fill up gaps in understanding

8) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the identification of problems and the search for solutions
to those problems. Many of us are good at working out solutions, once we are given a problem, but what about the necessary first step, that of
actually figuring out what the problem is? In science and in all academic disciplines, knowledge grows because we see gaps in understanding
that we seek to fill. Seeing the gap, therefore, becomes an important initiator of this process. And then we need to understand the nature of this
gap — what exactly is its shape and size? What are its consequences? The ability to see a gap, to describe it in a way that allows us not only to
imagine what it looks like but what it means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is worth
cultivating.

What is the second step in the search for solution?
1. Understanding the shape, size and consequences of the problem

2. Understanding how effectively one can find a solution



3. Understanding alternative solutions to the problem

4. Understanding effective and speedy resolution of the problem

Correct Answer :-
« Understanding the shape, size and consequences of the problem

9) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the identification of problems and the search for solutions
to those problems. Many of us are good at working out solutions, once we are given a problem, but what about the necessary first step, that of
actually figuring out what the problem is? In science and in all academic disciplines, knowledge grows because we see gaps in understanding
that we seek to fill. Seeing the gap, therefore, becomes an important initiator of this process. And then we need to understand the nature of this
gap — what exactly is its shape and size? What are its consequences? The ability to see a gap, to describe it in a way that allows us not only to
imagine what it looks like but what it means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is worth
cultivating.

What does the writer advocate in the passage?
1. Acquisition of skills

2. To fill up gaps in understanding

3. Importance of understanding

4. Understanding consequences

Correct Answer :-
 To fill up gaps in understanding

10) Which of the following options best combines the following sentences?

You should control weight. You should stop thinking about being healthy.
1. You should control weight but you should stop thinking about being healthy.
2. You should control weight and you should stop thinking about being healthy.
3. You should control weight or you should stop thinking about being healthy.

4. You should control weight so you should stop thinking about being healthy.

Correct Answer :-

« You should control weight or you should stop thinking about being healthy.

11) Identify the most appropriate indirect speech statement for the given sentence:
The clerk said, “I am here to settle accounts today.”

1. The clerk said that he is here to settle accounts the following day.

2. The clerk said that I am here to settle accounts the following day.

3. The clerk said to settle accounts this day.

4. The clerk remarked that he was there to settle accounts that day.

Correct Answer :-

« The clerk remarked that he was there to settle accounts that day.

12) Read the sentence carefully and choose the option that has an error in it:

When the soldier returned home, his wife welcomed him with opened arms.
1. When the soldier

2. returned home,

3. with opened arms.

4. his wife welcomed him



Correct Answer :-
» with opened arms.

13) Fill in the blank with the correct option in the given sentence:

Action will be taken against those who --appropriate funds.
1. dis-

2.in-

3. mis-

4. un-

Correct Answer :-

14) Choose the right tag:

Let's plan a picnic, ?
1. shan't we

2. shall we

3. won't we

4. don't we

Correct Answer :-
« shall we

15) Choose the option that substitutes the given phrase appropriately.

The gradual recovery from illness
1. Emancipation

2. Connoisseur

3. Convalescence

4. Cosmopolitan

Correct Answer :-

» Convalescence

16) Rewrite the following changing the passive sentence to active.

Mistakes were made by them.
1. They had mistakes.

2. They made mistakes.

3. They are making mistakes.

4. They make mistakes.

Correct Answer :-

e They made mistakes.

17) Choose the appropriate antonym for the highlighted word in the given sentence.

The burglar moves gingerly so as to avoid making a sound or being detected.



1. rashly

2. charily

3. stubbornly

4. warily

Correct Answer :-

e rashly

18) Choose the appropriate prepositions for the given sentence:

Break this chocolate _ pieces and share it all the children.
1. to... with

2. off... from

3. into.. between

4, into... among

Correct Answer :-

 into... among

19) Choose the appropriate synonym for the highlighted word in the given sentence.

The demand for computer-controlled robots is rapidly increasing.
1. price

2. appeal

3. right

4. offer

Correct Answer :-

* appeal

20) Choose the appropriate conjunction for the given sentence.

You have to go down this way _______reach the CEO'’s office.
1. as

2. unless

3. although

4. in order to

Correct Answer :-

e in order to

21) Choose the appropriate option that rewrites the given sentence in its active voice.

Sarah was bitten by the cat.

1. Sarah biting the cat.

2. Sarah was being bitten by the cat.
3. The cat was bitten by Sarah.

4. The cat bit Sarah.

Correct Answer :-



« The cat bit Sarah.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:

you ever how the people of the Harappan civilization ?

1. Do... wonder... is looking
2. Have... wondered... looked

3. Will... wondering... looked

4. Did... wonder... are looking

Correct Answer :-
« Have... wondered... looked

23) Choose the appropriate tense to fill in the blank in the given sentence:

We on the new product launch for weeks when management decided to shelve the project.
1. has worked

2. has been working

3. had worked

4, had been working

Correct Answer :-

« had been working

24) Choose the most suitable pronouns for the given sentence:
____are the new trousers which ___ uncle got for

1. These ... my ... we

2. Those ... my ... me

3.It..you’re...us

4. This ... your ... me

Correct Answer :-

e Those.. my.. me

25) Choose appropriate articles for the given sentence:

Passme _____newspaper. I wanttoread _____ article about the kidnapping.
1. the.... the

2. no article required... the

3.an...a

4. the... no article required

Correct Answer :-

26) Choose an appropriate article for the given sentence:

apples are grown in Jammu and Kashmir.
1. An

2. No article



3.A

4. The

Correct Answer :-
* No article

27) Choose an appropriate determiner for the given sentence:

The country has water resources like dams and lakes that water the crop all year round.
1. many
2. afew
3. alittle

4. least

Correct Answer :-

28) Choose an appropriate modal for the given sentence:

She climb the neighbouring hill in twenty minutes when she was young.
1. can

2. must

3. could

4. does

Correct Answer :-

« could

29) Choose the option that best explains the highlighted expression:
Rajesh finally made it. He's an excellent lawyer.

1. succeeded

2. struggled

3. aimed high

4. prospered

Correct Answer :-

e succeeded

30) Choose the right tag:

Sita didn't do her homework last Monday,_ ?
1. did she

2. would she

3. does she

4. can she

Correct Answer :-

e did she
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1. 9719368,
2.971942 %,
3.9 19205,
4,9 1947 S,

Correct Answer :-

. 19365

25) i FE A A Py o1 SR §2
1. fawr

2. IF-ferOT

3. e

4. JUHBR

Correct Answer :-

. gfE-feE

26) fay % 9% Sife 519 oI ot HEn fFa g d 32
1. 3R

2. 91

3. HRd

4. FFQATER

Correct Answer :-



1. G
2. AT HT I

3. 3R
4. YT [Ao0-a%g o1 A& FA Y

Correct Answer :-

28) frrafafed # & o1 9 Hew voe & we # et A8 32
1. 39 g &1 oitdd quiF far man g |

2. T8 U faRg-@rea g |

3. 98 U@ YHRR I TU B

4. U8 3(egd GHM gRIFAA B |

Correct Answer :-

. T8 gl &1 idd quiF A T R

29) FrafifEd & A $H YRax i Fever T8 22

1. GaTY AR Ay

2. SIRIHR YT

3. TR0 AeRt

4. SIFN Hg

Correct Answer :-

. SRR UG

30) FPrafifEd & A P10 i@l Tt ot wmar 1€ @2
1. S HT

2. N HTHA

3. Sfcged w1

4. Rg®=

Correct Answer :-
- dfoged 1o
31) fomfafEa ¥ A fra fage A sy & gt & T armm @
1. BRI yrTe; fgadt
2. TR X1 Rt
3. AT E
4. g Hip A~

Correct Answer :-

- B g fgad

32) Fufafay & o9 a1 seR 82
AR, AR A8 WA |

ar foe 3 &a fae fag, ds wrg wrtn
1. ORI SABR

2. 3G AR

3. TS 3fADPR



4, IUHAT 3ABR

Correct Answer :-

- SATSR(d SfeibR

33) fomfifEe o 9 ol & fore Sy exu-yoa w2 -
1. Y&, TulkepTeR

3 ICICERSICH

3. &% SIS, HER

4. TieTs q, difedr Twg

Correct Answer :-

34) fg T & | pi- Ry a3
1. T GHA G IR

2. UG §HA IHT @

3. §HA @M g1 @

4, A @@

Correct Answer :-
« B GET @
35) fE A A PH-A1 HYF WUGH $! A o 91 73 F Ty & s 32
1. U8 UF, IR U & YUGH &1 UI6d & gRT foram S g |
2. U8 UF, A HeAIHRY Ararnal & vl H Sawdf &7 Mg Far 3|
3. 8 U7, Yures & forq guf U § S1oem afard 781 81
4. I8 U7, AR & i 1t 8 =nfew

Correct Answer :-

. T8 UF, GUTe & forg quf &0 & w1oAr sifarf 78 1
36) e A @ P1H-T1 ST T<re & F T gan 32
1. 3{-HEHT 3T<re

2. TS FETHI SfT<Ia

3. RGN HEHT arad

. o
4, AT HgMHI 3Tl

Correct Answer :-

. TR BB M=

37) fU ¥ Q Made @ 5 STl &1 g1 U U uyy @2
1. @I

2. A

3. TS & faarst

4. 91 aTelt faear

Correct Answer :-

. QEHIAA



38) e # @ - faiwar simard gomrdt yag fgadt & Faai # 78 fewrd usdi 32
1. forefifasr

2. RGP D dd

3. eI Hra T

4. oI i

Correct Answer :-

B EEIIRCAERE

39) FfafEe iR A P B ?2
Y gitRd faf¥ g1y, 719 e sRav a8 |
B ITIT A3, I AR U G T 11
1. 931 <

2. i1 B

3. JeelTel B

4. RAT<

Correct Answer :-

. ROTB<

41) 5t T3.9FT & Tues B fm A | 5 yeR &1 0 e e o awar 82
1. SR Haeh U

2. ARG

3. g3ima 1 FRibrra dedft o

4, TRt U

Correct Answer :-

o SHIRGET U

42) TG B HIP W@ F 31 T 3Fua o Rigia & siarfa glar @2
1. ST e o1 Rigia

2. foramsfierar o1 Rigia

3. I9ag &1 Rigid

4. 3B B RIgia

Correct Answer :-

. forariiaar &1 fRigid

43) TIRTTY & ¥ B A2
1. HER

2. HAEY



3. AT

4. T

Correct Answer :-

. TRGTY

44) 1% 1 fou Y fawedl & | fraeT SeeRur -
1. SRIea gt

2. Had 9T AU BT

3. $ad e IR B

4. T- A T

Correct Answer :-

. Had T AU BT

45) "oIgR ®T Ye TIAT gerar o1 31 § -
1. TR g

2. TRy & s

3. Hdl aTd BTl

4, oUW o gU TE

Correct Answer :-

o 3OEH gax ot gu el

46) 'Fife, Tde 3 frw Fer SFTUA 32
1. Q@S

2. T IRar

3. BB

4. 378

Correct Answer :-

47) 39U UAD IRUTH 16 AT g & 1 3id & @Y -1 3| - SwRIad favang fovq o< o1 82
LA BT

2. Py avf <

3. el B

4, dEH B

Correct Answer :-

. T B

48) RIS TTUTYI-ITR I “TRIRA Fo07a+T F} qrat’ 3R 31 W a1 Jora &t araf> & aa® s 82
1. Mpam

2. fagammy

3. QAR

4. AT

Correct Answer :-

. MGy



49) «TP YT A & URT | TP R TR Sffem eRT 11

IRY 3T I8 YTl Y | Wt ITA TH AR 117 - 30 RSl & a@ S UH Wi &2
1. BER

2. fammmfa

3. 3R G
4, TMRGTY

Correct Answer :-

. SHERGW

50) 'yguUl Bt wED e Aot o a3
1. Qe

2. 3

3. R UYH

4. THTISIH

Correct Answer :-

o JHTTUYT

51) gl o e fha-t urit wirdt @2
1. ST
2. IR
3. 83U
4, TR

Correct Answer :-

U giY # arelt =i ?1 Sita ¥ fafay ezl &) wrmm g s st T B

Correct Answer :-
o HUATdd
53) f¥d} afera ey o1 aaffa vd aday sxaer 59 oot omar 32
1. faenfarg fay
2. gderia FAUTS} foRe
3. o7 <fa aat
4, SRR UG
Correct Answer :-

o foenfar fay

54) fE&ar urdt ol Ft ArguTeT H ST Riee & g -
1. 3T



2. A B

3. Ao 21
4. fARI R

Correct Answer :-
- |

55) FPafafRa e § Si-91 serR 22

ST UR HeR & 3G 3§ I,

F O HeR & AT EA 3

1. Y JfADBR

2. JHSD 3fTPR

3. TGP ATPR

4. UM 3TPR

Correct Answer :-
o JO® DR

56) T9 AR A U § WG D T ¢ | U P [N Al 9§ H IE1 A gidT Gl TS 2| HAR 1 ST So1ee SRAT SR IRl ¢e-g B A I, it o Rk g

ST % e g0 IUraHT Fed 7, o fR1g 30 oA SifE sy 9@ &1 duR Y84 §, et Wi aRiars 3@ & Y 89 3A® aie & WRE &g 1o T 314 8,
I STAT HHM H U THY LY Y o1, 3R S $© T oW Py A st 7ew 59 309 9§ $ifie geaar awgd €1 o @l & shae &1 3539 $ad $uan SeR-T
B, ST UfasT 7 §¥ 3 1 Sifreni=r Srawt § 3% it 7 gt o 18T | I o R, $uan wHm SR Weils @Y arn ot | et A 9 aw 718 7% 3 B A ok et mw
AT TS W A= B, W 98 W1 B SURHAT HA1 T et 3 # 3 € ge o 7, Rl oru Shtaw ot oiftfa v W Ay a1 uivay fean @

Iuad TRwE Bt ugHR -4 fy 1T vy #1 IR faf@w:
TR § 49 & el @Y o i g 82

1. A RAS BT T R ¢

2. ! UFAmT SR A1 11 B LY Xg e

3. AP JUT Bt B

4. IH WRS S 1A § |

Correct Answer :-

o I9o! UfasT 3R T1H S H e 38 S|

57) 39 YOR ® ¢ €l 99 O 61 81 U7 B Yo @ 959 FH oW1 A gt Gl T ¥ HUR $T 5w o AT R 3316 go-g¢ HY WA /Y, A
3! A 8 v % et 86 U #vd €, e g 89 oA 3 a1 9@ & auR 84 €, e Wi a)iaren w@q & T 89 8 ave & VIR
g aTaR WS R §, IR T FUA F 31 T A fyaran o1, afes 391 3o T oW U A et ven 70 A ofte gegar wugra §1 R it
& g BT IEXT Had TUAT TERAT 8, 33! UfanT 4 g3 81 feiwr srawt § I8 el A uo1 a% =811 3817 w4 o, suan sumn ok wele 3t arn #11
ot A o 9 81 fh @ B ¢ 3R Pel U1 wT JuTS @t 3rawy €, W 98 ward & SureAr w31 76 wearn! o § 4 € S o €, e e sitaw #Y
Siftfd FRa Ty A $1 ufeay a1

Iuge a5 P UgH i AT T Uy T IR frfa:
9 T 31 3fra e w8 wwar 32

1. Siia BT A&

2. F00 $T ggl

3. SO HUT

4, Y9 Dt g

Correct Answer :-

o Slgd BT A

58) 39 TR ¥ ¢ € W9 $© T8 31 U9 Y Yo oY 95 P STeT H S A TE ¥ WUR #1 3ieT SoTa AT iR AR go-ge pY A I, @t
3Ty fafea g wgn & Rt g U #3d €, o e 1T g9 orum 31 fIsTY a% &1 duR e §, e Wiy aRiaren T & fig 80 oM ave & WRe
g TR WS B ¢, SR SUAT HHM F U THY T fyaman o1, afwp 390 7o 1 #1 Hy A Reet g 70 70 R siftre gegar wwga 71 R @t
P oflaT BT ILXT Haa SUYT TERAT 8, STH! UiagI o4 g3 ¢ | D awyr 7 3= 5t A 1o1 a6 7€) | 3= o foran, Suan Haman 3R wWaile 3 amn 3
forft A W 9 €Y fF @ B9 A 3R Bt I A quTe W@ 3awy §, W 98 Wrd IR HIAT 781 Sar| 3 W 3 €Y qo o1 €, e 3= sia &Y
ffa Ha THy Ao $1 uRey A |

It uivde 3 tgdy R e e vy @1 I Rk



TRde & TR 58 T A A U1 THY g1 foamn ariey 2
1. St gAYor &

2. I HAR H

3. URmT HUA &

4. JATRU g |

Correct Answer :-

. IPWHARH

59) 39 WUR H U7 €1 99 $O 8! ¢ YT B IS ol 95 PH SIG! | gl S@T TE §1 UAR BT 306 ISR AT 3R IIT6RV §6-¢¢ P AR I, A
3Ty fAfd 8 v % e 80 IuraeT #7d €, e e 89 oA 3ifd e 9@ & R 84 €, et Wit a)iaren @9 & 1T 89 8M® avE & ®IRS
e I T2 F3a §, SI1 U1 AN H S0+ THY T fyamar o1, afep 311 $0 T o e 3 ot v e9 o9 @ 31fire Jegar awga €1 o dm
F Sfta T ILT B TUAT TR 8, 351 U9 3 g3 81 i srawut & I fredt A ymt 9 71| 3617 o= feran, Tuan waman 3R Wl 31 g $)
forft A T 9 ST fF @ B9 A 3R wet I A quTe W@t sz 7, W 9% Wrd IR BT 781 Swan| o § 3 €Y ge 91d €, el erae sita &Y
3fifa Hed THg Agww o1 uREy ATl

I uRsde 3 tea A2 g g vy a1 S iR

o P gEr A T T B2

1. @t g

2. T B AET BT

3. WIR® M|

4. 9T P fo shae it s

Correct Answer :-

« @reff g

60) 39 HUR & 4 €1 W $© T8 31 ¥ 9 Yo ol 9gd S el H g A 1 31 WAR o7 gfeT Sora 3T ok Iarevu ge-de I wrA AR/, @t
3Ty fafea 8 wirgen & Rt g U #3d €, e 1T g9 oA i 4B a &1 duR v §, e Wifa aRiaren T & fig 89 M @i & WRe
g ST WS P4 §, ST IUAT HHM § Su=1 THy 781 fyaman o1, 9f@p 311 70 T w1 g & et e 59 93 ¥ 31f¥e gegar waga 8 | R~ di
P oflaT BT ILXT Had SUYT TERAT 8, STH! UiagI o4 g3 ¢ | AUDir awyr 7 3= 5t A 1o1 a6 7€ | I o foran, Suan Haman 3R wWeile 3 a3
forft A W 9 6T fF @ B9 A R Bt T A quTe W@ 3awy §, W 98 Wrd B IR HAT 781 Sar| o W 3 € go o1 €, e 3= sia &
ffa Ha Ty Ao $1 uRey A g

Irfa ufvsde 1 ugHs 19 fo e uy a1 IR Rifdw:

TR # {5 UpR & A7 A g g1t 22

1. oF% ¥R fag SR U

2. iR @ S ot

3. orgi 3o e Y Igwra & fore srdor & faa

4. forgiA ggudd e o

Correct Answer :-

. Tore oA Site &) Hyw@ & o rdor = )



